The tiger
Answer:

C1

in the jungle.

The peacock
Answer:

its feathers.

The monkey
Answer:

on the tree.

The lion
Answer:

its prey.

The snake
Answer:

its skin.

The elephant

water with its trunk.

Answer:

The bird in the sky.
Answer:

The dolphin in the ocean.
Answer:

The butterfly
Answer:

from flower to flower.

The kangaroo
Answer:

in the desert.




Answers

The tiger in the jungle.
Answer: is walking

The peacock its feathers.
Answer: is displaying

The monkey on the tree.

Answer: is climbing

The lion its prey.
Answer: is chasing

The snake its skin.
Answer: is shedding

The elephant water with its trunk.

Answer: is spraying

The bird in the sky.
Answer: is flying

The dolphin in the ocean.

Answer: is swimming

The butterfly from flower to flower.

Answer: is fluttering

The kangaroo in the desert.
Answer: is hopping



